
COMPREHENSIVE TEST – CIVIL HOUSE – 2021.09. 23- 09. 27. 

QUESTIONS – ANSWERS – SUMMARY 

 

1. It is satisfactory to provide a parking lot for only 5 cars altogether. The task description is 

changed accordingly. Principally it is possible to design the parking underground. However, 

this smaller number of cars can probably be solved on the surface as well. 

2. The two plots can be merged with demolishing, or resituating the fences. The plot must be 

protected by fence, but open with gates during the day and closed during the night. Eventual 

more new pedestrian gates may be designed as well. 

3. It is possible and strongly recommended to reevaluate the regulation, thus the minimum 

building height: min. 12,5m as well, so you can design a lower building. 

4. The function of the new building to be designed ensures the district nurse service to be 

continued. The new building should be situated and designed accordingly. 

5. The bigger and medium size public rooms may be used  simultaneously. Thus you can 

estimate 200 visitors using the building at once. 
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